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A 232
Hu: sipel AzrAs
el BEus 2 OHE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 38,000 38,000 0
02223 ¥ HAl 38,000
0 BANHLLD XN LS
4,000,000& 42| 16,000
0 HEYBAMBES ZERYD 2,000
202 04| 9,000 9,000
01 SLHoIH 9,000 9,000
0 =LH0iI 150,000 x5 * 12 9,000
2 AN E =T 5,550 5,550
203 HRP=H] 1,350 1,350
03 A= PR FAI| 1,350 1,350
0 g8 g4 337,500 *42 1,350
301 EtE NS 4,200 4,200
11 #AIAHIXIE S 4,200 4,200
0 BEk Aosisd WS
50,0002 * 14212 700
0 I Bl & el &
50,0002 *14E 12 700
0 NABSHE EIIX B4
50,0003 x 142 +43] 2,800
BEAZE JIZAE 8 9 100,000 0 100,000
= 70,000
[Ea 30,000
207 AR 100,000 0 100,000
= 70,000
= 30,000
01 HESHI 100,000 0 100,000
0 BAZE JIZHE =8 EF 100,000
= 70,000
= 30,000
EAMQIEN I QIMEIE Xz 50,000 23,000 27,000
= 25,000
= 7,500
= 17,500
301 EtE N = 50,000 23,000 27,000
= 25,000
== 7,500
= 17,500
14 IIEt2 8= 50,000 23,000 27,000
0 HAHOIE QIMEIE 50,000
= 25,000
== 7,500
[Ea 17,500
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A 232
M gFate| AgHst
&2l sFus & HE2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,500
s 1,500
$H2g HHE& 2cl 62,150 54,100 8,050
= 500
Ea 61,650
3= 2N 43,200 44,200 A1,000
201 Zet=3h] 36,000 37,000 21,000
01 AtR2t2|HI 24,500 25,500 21,000
0 &et=SH| 24,500
o LIOIBHEAIE ANZTHF U= 6,500
0 LETHAM W= 2 2,000
NZTHHE 5,0002 *2007K 1,000
oFF L 40,0003 252 A 1,000
0 &F LT =28
700,000& *104 7,000
o BHE2FMY HE EE= MA
1,000 *3,0000H 3,000
o =E &AL H= HMeldl
200,000 *20& 4,000
o A HDIE B8l 2= HH
4,000 +5000H 2,000
2 352484l 11,500 11,500 0
0 Al &8I Xl 11,500
o NS FEEMN =22
100,0002%97| 900
o A=EEEH el & A2 1,000
o ZHIEXI=EE EHEX PC SAR=
50,000& * 122 600
o A=EEXER A
250,000 *4= 7| 1,000
0 0ISA RO TEI| +2|4d
1,500,000 4CH 6,000
o SHEZAIE E2 Sel=d (1)
1,000,000& 22 2,000
202 04l 7,200 7,200
01 =LHAHI 7,200 7,200
0 =LHGiI 150,000 x4 * 122 7,200
BEEAMD US 4,000 4,000 0
201 fer=2 3| 1,000 1,000
03 A= 1,000 1,000
0 =ZHAD SHEE &Al
1,000,0002 %12 1,000
206 M=4l 2,200 2,200
01 MHZHI 2,200 2,200
0 +Z2EA ZHEH & XM 2L 2,200




od
i’
oF
uJ

)

w1

0o o8
A0 K

_ﬂum_.H_

of /o 80
H /) O
R0 "0 ”O
o o1 o1

|.IA—P__.I
I+ &0

X XH
&t

e B o] B8 el e 218 < 818
(@) (e} (@) [N Ne) o | O
- > S > oo oo
no
Kio
E
E=)
818 3 3 3 B33 218 S R m 218 818 8 m
© | © > > = o @@ S |o S MEAESIES! S| A
LH3r
<
RIS
88 888 B8 8 8|18 8 8|8 88 813|138 388 S 8 SIK1388|8 (8|8 888 ] S
L AN WU | O |oo VOO 1O OLIO U IO O W WM |IM MO ]|O© O O O|N|[TFT|O|O OO |O [« IS I — (@)
- S o|s s|s o S|<|[—|- —|o|lad o~ S|glg|ls|le S| |v gl S o
al
<
b=
! H 3!
o<l Al ol ol oo
D o3 P S o % 2 ¥
X O = EN * * =
o 5 B o o 2 o o
18 ® 8 R 8 S X 8 8
0 |S8g i = = £ s B8
m.._ re} m 1 T @ <] m = ™~
= o = N3
) = A0 o \u
= = R0 o i
~ 110y o_ﬁ
g 70 U = =
= = = 5l Rl o
. ! m_x ﬂl xo [
~ __oI _._._o
= = :mw 10 EE __ﬁ ol
ol 30 i = 0 i _
oF . w A = T R o W o o1
o H = = = _|= =< 0 R il
. WD a0 |0 B DRI |R B0 0] s W |m|2 o
=r L i T I = A K of 5|3 M a1 s I
= OF Ok |7 |= R |MF B] o | ok |& RO | & z 2 |&|a 3
RO o o o 60 <F ) xr B0 | &0 o ZT|E R 50 o) =
* — O = o | = ) — O — O N~ )
X . a m | < SIE . &
I+ I o)




A 232
Hu: sipel AzrAs
Rl iEs Agdst EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 SZadcgs 2sX3
1,110,000 #32] 3,330
0 = BIIS0IMAA B 2SXE 3,000
TR0t 22N 2K 4,800 4,800 0
201 et 3| 2,000 2,000
03 A2 I 2,000 2,000
0 A 2l & J1'8 A 1,000
0 =HetZE2zl A 1,000
301 EtE N = 2,800 2,800
11 dALEBIXIE S 2,800 2,800
0 SMZABHZE A WAL HIF 24
50,0002 x7 H*43] 1,400
0 =Rt ZAIEs 24 1,400
Ol X2 3,516,071 4,559,653 1,043,582
= 1,687,736
= 457,561
o 1,370,774
SX BHIEItA H2ZHAHY 2,660,020 3,927,500 1,267,480
= 1,379,510
= 374,253
Ea 06,257
402 2IZtA=01d 2,660,020 3,927,500 1,267,480
= 1,379,510
= 374,253
= 906,257
02 QI X2 AL EE(OIETHE) 2,660,020 3,927,500 1,267,480
0 ==3IF/X(G6S2) =1 HA X2
1,600,000 *760CH 1,216,000
= 608,000
== 182,400
= 425,600
0 ==IF/A(A4SS) 2| HAF X2
4,000,000 = 172CH 688,000
= 344,000
= 103,200
= 240,800
0 A&DIAH £J1 WXt K&
3,730,000 =24CH 89,520
= 44,760
= 13,428
i 31,332
0 MZEXI(0PF) £ XA
3,300,000 =45CH 148,500
= 74,250
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mm: sAwe ol
=l OIMEX M (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 22,275
2 51,975
0 A&D|H HFDFH K&
16,500, 0002 *30CH 495,000
= 297,000
S 49,500
= 148,500
0 LPG at=xt &IXF 7Y A&
1,000, 0002 *23CH 23,000
= 11,500
= 3,450
= 8,050
01210l SSIXtE LPGRE &&t X2 A 14,000 36,000 A21,000
= 7,000
= 2,100
= 4,900
402 QI2F X201 & 14,000 35,000 221,000
= 7,000
[ 2,100
T 4,900
02 QI X2 AL EE(OIHTHE) 14,000 36,000 221,000
0 O{el0l SStXte LPGRE dat XA
7,000,000 =2CH 14,000
= 7,000
< 2,100
Ea 4,900
B3I12 UEX 457X 2l 4,051 0 4,051
= 2,026
< 608
[Ea 1,417
402 BIZtAH=01A 4,051 0 4,051
= 2,026
=S 608
s 1,417
02 RIENEASEZ(0IETHR) 4,051 0 4,051
0 2l 150,000 * 16CH 2,400
= 1,200
= 360
o 840
0 gtg=25H| 6,0002*12CH 72
= 36
= "
Ea 25
0 HAIEE X 22ld 150,000 2CH 300
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mm: sAwe ol
el DIMEX M (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 150
=S 45
s 105
0 BHEIE1HI 19,0002  11CH 209
= 105
= 31
o 73
0 PMNOx == FUHIE 600,000 1CH 600
= 300
S 0
o 210
0 0 « 22/l 23,5002 +20CH 470
= 235
= Il
o 164
ODINEX & & dSS €X 12,000 12,000 0
< 3,000
Ea 9,000
201 Ler23 | 2,000 2,000
2 35244l 2,000 2,000
0 DINIBIXI S S |XI2ell 2,000
401 AIZHIZL R0 10,000 10,000 0
= 3,000
Ea 7,000
01 A28l 10,000 10,000 0
0 OIMIZHA A S X
10,000,000 * 10 2 10,000
== 3,000
o 7,000
IHEE MsA22Y XX 22X 32,000 39,800 27,800
= 19,200
= 12,800
402 2I2F X201 & 32,000 39,800 A7,800
= 19,200
Ea 12,800
02 QI X2 AL E R (01X THE) 32,000 39,800 A7,800
0188 N=sA22e &XX&
(100,000:2 *200CH )+(600,00024 +20CH) 32,000
= 19,200
o 12,800
A2 MHE SXAIE EXIXS A 324,000 372,353 48,353
= 180,000
s 57,600




SN B#YLE
M gFate| AgHst
=l OIMEX M (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 86,400
402 2IZtA=01d 324,000 372,353 /48,353
= 180,000
= 57,600
= 86,400
02 QIEX 2 AL E X (0IETHR) 324,000 372,353 48,353
0 ZXAIE EXIXE At 324,000
= 180,000
& 57,600
= 86,400
ASX SEZAH K& 240,000 170,000 70,000
301 EtE N = 240,000 0 240,000
14 JIEt 2 a3 240,000 0 240,000
0 ASXt SEZAH 2X2 240,000
o1 2tB B A 50,000 0 50,000
207 ARl 50,000 50,000
01 ARSI 50,000 50,000
0 UoISZAEHZAL 50,000,000& * 14! 50,000
A UOIHHSAMEE HS S T3AY 180,000 0 180,000
= 100,000
s 20,000
s 60,000
402 2I2F X201 & 180,000 0 180,000
= 100,000
= 20,000
o 60,000
02 QI XHE AL E R (01X THE) 180,000 0 180,000
034 UIIHESAEE dzde X2
45,000,000 *4CH 180,000
= 100,000
= 20,000
[Ea 60,000
A 01240 SEots HEE N 1,447,180 1,254,680 192,500
= 36,000
== 20,800
o 1,390,380
OsaE 252 1,447,180 1,254,680 192,500
= 36,000
S 20,800
o 1,390,380
OisS=E 25 25,000 25,000 0
206 M=H| 20,000 20,000
01 M=8l 20,000 20,000
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SN B#APE
= g eI2t0l 3&ole S32d
ol OrdsAa=E 25ad (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 146,400 113,900 32,500
0 UOIMSS T2l Bt 142,500
EED 100, 000225012/ 302 75,000
0 D2t 50,0002 #450} 2| *302 67,500
0 SHHOMMSS TAHLXIC 2= 2l
130,000& *30& 3,900
ROt E A= X2l At 160,000 160,000
201 er23| 10,000 10,000
2 5234l 10,000 10,000
0 NERXE+ 10,000,000& » 14 10,000
401 AIEHIX 20HH 150,000 180,000
01 A28l 150,000 150,000
0dls &1 £X 10,000,000 * 10 2 10,000
0 RolOtESE HYIEH2I(HE )8
7002 %100(kg)*2,0000}2] 140,000
HOIS X2 3t 13,378,179 15,677,465 N2,29,286
= 3,254,500
= 1,176,230
= 8,947,449
MEHI|Z 2 3,399,563 2,802,219 597,344
= 1,092,000
< 235,800
= 2,071,763
defE Hols2el 224,637 287,933 N63,296
101 @124H| 224,637 167,933 56,704
M ORINZZENSES 224,637 167,933 56,704
0 F=RUINX 32/ 224,637
oJlEs 76,9602 x42H x50 161,616
o Frdsd 76,9602 x42H 11 35,55
0 BXRIRYLY
76,9603 #42 H 22 6.465
o =4 100,000 *42H 4,200
o 4li2E= 400,000 x42H 16,800
Ho|S2el SE2st 5,750 5,750 0
203 =4l 1,350 1,350
03 A= PR FZ| 1,350 1,350
0 &7 HIOISHMelEEE & FAAH =2 1,350
301 LEIBEZ 4,400 4,400
11 dALEEIXIRE S 3,400 3,400
0 =EHFZ2S A dHI24
200,000 #73] 1,400
0 M| SEHE U2
1,000,000& %12 1,000
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A 2EES
= G)I2Xes
el MEHIIE 2t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 MEHAD| YD) 2l2iol o A2
0002 +53] 1,000
14 DBt 2 a3 1,000 1,000 0
0 M2D| BHEI| HDENT
50,000& 2024 1,000
=g 2SX& 260,307 205,510 54,797
201 2= 37,960 33,700 4,260
01 AtR2t2lt] 27,960 24,400 3,560
0 &t==3H| 27,960
o XDl SESI| HE E2 24
8,000 x4 »80! 2,560
033 FAE MYDISE P
1,000,0002 %52 5,000
o XelJl SESI| OV RAE+
250,000 8K 2 2,000
o M| SESI| 08 AE
150,000 *200H 3,000
o HEHIISANES, Y MY
3003 +5,0000H 1,500
o HEMY| HHEYE =8 Y
60,0002 402 2,400
o dEMYD| ZelHE &R RAUS
300& 15,0000 4,500
o MgD| 2 EES(AEIA) HE
20,000 »3500H 7,000
02 S22l 10,000 9,300 700
0 et=HII=E 2/ 3,000,000& *12l 3,000
0 dEMD| SESI| SAICCTV &I, 8L
= 250,000 x 122 3,000
0 CCTVs= Xl 2t 1,000,000 x4 71 4,000
202 04| 9,600 7,200 2,400
01 =LHOHI 9,600 7,200 2,400
0 =LH0IHI 200,000 x4E 128 9,600
206 MH=HI 130,747 104,610 26,137
01 MHZHI 130,747 104,610 26,137
0 X2l SEMA(31) 252 %130,0000HK 3,250
0 X0l SEMA(54) 3121%250,0000H 7,750
0 M0 SEMA(102) 413300, 0000HK 12,300
0 M0 SEME(2014) 58& %700,0000HK 40,600
0 M0 SEMA(502)
12431 %283, 0000HK 35,092
0 X0 SEMA(752)
2193 *145,0000H 31,755
207 AR 22,000 22,000
02 HAHHEHHI 22,000 22,000
0 EHIIZ =cte! tHEAILR 5 22,000
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A 2EES
=L B BIEEL
CHel: MEHDIZS 22 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 60,000 60,000
01 Al&H| 60,000 60,000
0 M| WAL 29
10,000,000 +29H 2= 20,000
0 M| 2E S| ZAICCTVEX
4,000,000 *109H 2~ 40,000
otEotMe Il ALY 360,002 360,000 2
= 252,000
= 108,002
101 @124H| 73,002 73,000 2
= 51,100
= 21,902
04 JIZtNZ22 NS E+ 73,002 73,000 2
0 ot&otMeld] HatAlY HAQIR 73,002
oJlEs 76,9602 x10F 74 56,951
= 39,865
s 17,086
o FRdsE 76,9602 x10H 9 6,927
= 4,849
= 2,078
o EXrESRL+E
76,9603 x10H =2 1,540
= 1,077
o 463
o 4UES=E 379,200 x10E <22 7,584
= 5,309
T 2,275
201 er23| 30,000 30,000 0
= 21,000
[Ea 9,000
01 AtR2t2|HI 30,000 30,000 0
0 ot&otM gD E378 & FHIEX=
2,000,000 %02 18,000
= 12,600
s 5,400
0 otdst=2&4g Dl =H 88 A28 7Y
1,200,000 1000 2 12,000
= 8,400
= 3,600
401 AlZHIZ 01| 257,000 257,000 0
= 179,900
o 77,100
01 A28l 256,000 256,000 0
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SN S#PLED
33 W=
ool dEHoIE 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 StAGH2 D] /Xl
320,000& *800= 256,000
= 179,200
Ea 76,800
03 AIESTHYI 1,000 1,000 0
0 ot™ot=2 A0 HatAre
100,000& =2 +53 1,000
= 700
Ea 300
=dIOIE ™MelXIZ 1,572,000 1,528,000 44,000
= 786,000
< 235,800
[Ea 550,200
307 elztol & 1,572,000 1,528,000 44,000
= 786,000
=S 235,800
s 550,200
05 git?(&= 1,572,000 1,528,000 44,000
0 =dIOIE XMelXI3AHY 1,572,000
o NSEIN(FH) 3,517,490 +335& 1,178,360
= 589,180
s 176,754
s 412,426
o XIS&E (=) 5,397,802 +«3B= 205,120
= 102,560
s 30,768
s 71,792
o NSHe 6,284,000&«30= 188,520
= 94,260
=S 28,278
s 65,982
=d0IE d=52 21 N 45,000 30,000 15,000
401 AIEHIYL S HY 45,000 30,000 15,000
01 Al&HI 45,000 30,000 15,000
0 gXl H=0IE Xel 500,000 *90E 45,000
SASAdD] 2el 823,867 309,626 514,241
101 @124H| 201,467 173,326 28,141
MU IIRIMZZENSES 201,467 173,326 28,141
0 SASXaD| +=H 2R 201,467
oJlEs 77,540 x6H 260! 120,963
o FRdrd 77,5403 +68 52 24,193
o ElrERLsE
77,5406~ 112 5,118
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A 2EES
LIS BIEVEE
el MEHIIE 2t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 ZN2R=E 77,5402 x6 2 x52& 24,193
o Ll=H] 100,000 6 600
o4lf 282 400,000 «6E 112 26,400
201 =3 21,100 55,000 A33,900
01 At22t2l] 5,000 5,000 0
0 SASMD| g ¢ s+ S &
22 M 1,000,000& *52 5,000
2 35234l 16,100 50,000 A\33,900
OFRFID RRIE & SH&E
350,000 #4694 A 16,100
206 M=l 21,300 21,300
01 M=4l 21,300 21,300
0 SABMHI| HSEII(51)
5,000 *500H 2,500
0 SAalSMe) HESI1(20¢)
12,0003 »200H 2,400
0 SAalSMeI HE2I1(1202)
50,0002 *100H 5,000
0 SASMD| 88EJ| &(51)
303 *300,0007H 9,000
0 SABHHD HBSI| H(201)
40350, 000K 2,000
0 SASMI| BRI F(1204)
403 %10,0007K 400
401 Al HIZ R OHHI 540,000 20,000 520,000
01 AlZ8| 540,000 20,000 520,000
0 RFID SAEXa1E5EI1 £X
2,000,000 *5H 10,000
0 RFID SASMDISEI| EXISA
2,000,000 *57H 2= 10,000
0 SASRHDIE FstHe)
400,000 %1,300& 520,000
402 2I2E X201 & 40,000 40,000
01 IR SASE X (XHMITHR) 40,000 40,000
0 SASMIIHMeI| N (CIZHEAISEE) 40,000
OIAIZHA SHHE WZZAE 22 108,000 75,400 32,600
= 54,000
= 54,000
101 @124H| 108,000 68,000 40,000
= 54,000
Ea 54,000
04 JIZtN22 XS 2+ 108,000 68,000 40,000
0 OIMIZHA SHUHE HZSAIE 2E 108,000
oJlEs 76,9603 x4 H 267 82,194
= 41,097




SN S#PLED
M HOISXES
el MEHIIE 2t (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
[Ea 41,097
o Frdrd 76,9602 x4 *31& 9,544
= 4,772
[Ea 4,772
o ElrERLsE 76,9603 x4 H+9 2,771
= 1,386
= 1,385
o L=l 200,000 x4 *13] 800
= 400
s 400
o 4UEE= 362,520 x4 H+03 12,691
= 6,345
T 6,346
AHNaEs Hat 1,003,303 1,104,441 A101,138
= 12,500
< 115,430
T 875,373
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401 Al HIZ 2018 20,000 20,000 0
= 10,000
< 3,000
= 7,000
01 Al&H| 20,000 20,000 0
0 HEHAH wetd= EIXSS
20,000,000& x 14 20,000
= 10,000
[ 3,000
T 7,000




A 2EES
Ma: TOIMED =W W NSO EF
Celr MEhry 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HasXl RA2e 5,000 5,000
401 Al HIZL 201 5,000 5,000
01 Al&HI 5,000 5,000
0 €atsAl A8 FA2
2,500,000 *23] 5,000
T 0z 2+ XE 22 40,000 0 40,000
s 20,000
s 20,000
308 AFAIEHMSOIE 30,000 0 30,000
< 15,000
Ea 15,000
11 SIS0t oA A A 30,000 0 30,000
0 dEHisNd 4= ZLHE
30,000,000& » 14 30,000
= 15,000
o 15,000
401 Al HIZ S OHHI 10,000 0 10,000
< 5,000
2 5,000
01 Al 10,000 0 10,000
0 MENSXIE MEEYR £F |12
10,000,000& * 14! 10,000
< 5,000
s 5,000
HH2LZH(BZESD) 2,669,956 2,735,877 265,921
plHE2HH|(8ZESm) 2,639,156 2,705,077 65,921
el E2d| 2,639,156 2,706,077 65,921
101 ©1AH| 2,639,156 2,706,077 65,921
03 SRA(RIH )22 U2+ 2,639,156 2,706,077 265,921
0 2-Z0I3H2 (32Y) 2,491,036
oJlZs 2,227,303 328« 12 865,318
o d2+¢ 2,996, 3703 «32EH *50%2E 95,884
o M=l 2,996,370 x32EH *50%5E 239,710
o &= 30,0002 x4 *32& * 12 46,080
0 SFEf=g 120,000 x32E « 12& 46,080
o ¥YcA+g 100,000 «32 « 122 38,400
o NE22+8 120,0002 -0~ 12& 12,960
0 JHAHIE Z=HI 110,000 x32& « 122 42,240
0 WESEXH| 140,000 x32& « 12& 53,760
o EEFJtI 2,996,370 x32E =2 6% 115,061
0 AlZt2| 22+¢
18,4902 x32& * 12 x40A| 2+ 284,007
0 {LIF=E
147,960 x32E 12 x2 113,634
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SN S#ALED
M HYRAZH(BFES)
CHel: QIHA2AH|(BHE 25 D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SR
98,6403 x32H  12& 37,878
o MUASHIBZ+EH(NESHY)
350,000 10 *43] 14,000
o &Z0letd RFAXI=HI
1,000,000& 10 10,000
o =4 200,000& x32H 6,400
o A0t |=2eQ B+S
1,000,000& %12 1,000
o ORIZ2+E(AI&)
9,240 x4 +BA| 2Hx200& 59,136
o ORIZ2E(8H)
9,240 102 ~40Al 2+ 123 44,352
IEPS RS 129,000 x32& + 122 49,536
o Ag+E 50,0002 +x32& « 128 19,200
o &d0|etd SFu=
50,0003 *32 & *42] 6.400
o EIX3(2¥) 150,000, 000& »2H 300,000
0 JIEt SRA(RIIH)22IHEZBAIL) 148,120
oJlEs 2,634, 7503 «3E ~ 122 94,851
o MRS 140,000& x32* 123 5,040
o EEFJtI 2,634, 7503 x600+2 2] *3H 9,486
0 AlZt2| 22+¢
17,4303 »40A| 2+ 123 +3H 25,100
0 {LIP=E
139,480 x22 x 123 3 10,043
o =4 200,000 x3H *23] 1,200
oJlsdcld BExuF
200,000 32 *13] 600
o Flg=g 50,0002 x3& =122 1,800
Jl2dsl(83Esmn) 30,800 30,800 0
JI23Hl 30,800 30,800 0
201 2= 27,200 27,200 0
01 At22t2l] 27,200 27,200 0
0 Et=2HI(3S) 560,000& x20H 11,200
0 SEHI(SS) 8,000& x20Z 100 16,000
203 HR=H| 3,600 3,600
M A2 LRFEI 3,600 3,600
0 2MEg 300,000 x 12 3,600
Hees(8d2sw) 3,003,000 5,060,000 1,967,000
WA XIE 3,093,000 5,060,000 A1,967,000
WA XIE 3,093,000 5,060,000 1,967,000
701 JIEtRI HSHES 93,000 60,000 33,000
01 et AN ES 93,000 60,000 33,000
0 =Z2IHHII=SEz3 £ 93,000
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SN BEDS
DI WRES(BILSH)

Rl WERAHHXIE

2 s IE]
RA - B - SRS - MSAY - BES ofl &ty e
meosdes 3,000,000 5,000,000
o1 JI=dES 3,000,000 5,000,000

0 HDIEZXcld =X X2 3,000,000
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